U AEFR ERERUSRIL

Ak - RBREALTR SRR | R0 SRR | S 4 R
H P AT 2 & 1 1 1
H PSR 3 & 6 6 2
H P i FE WAk 0 2 0
AR 2 % (PR 0 0 1
R 2k (LEEHED) 0 0 1
R R 1R 0 0 1
EREHERC 2 R 0 0 0
iR 3k 1 0 2
[BEATF PIR] 3SHEF PHRE (FFH) 0 4 2
[AARF PH#H=] 3#F PE (F4) 0 4 2
FERE 2 % 0 5 6
FERE 3k 5 4 1
A AGERE /AR N 1 0 4 0
A AGERE BN 2 0 10 7
A AGERE BN 3 1 2 1
A AGERE BN 4 0 1 0
P— B R EERE 3 & 0 2 0
bR A SR E 2 Wk 0 1 0
H BRIk 3 0 0
MOS (Word) 0 0 1
MOS (Excel) 0 0 1
ARG SRALEERRE 2k 0 0 1
TR T—va UHE 3k 0 0 1
H AT RE /) 1 E T 2 K 0 1 0




